CBSE Class 9 Maths

SAMPLE
QUESTION PAPER - 4

Solved

Time : 3 Hours Maximum Marks : 90

o SECTION & .
Question numbers 1 to 4 carry one mark each. For each question four alternative choices have
been provided of which only one is correct. You have to select the correct choice.
L (a+ Jb)(a=Jb)isequalto:
(A) ¥ - (B) a*-1* (C) a*-b (D) # -a
2. The maximum number of zeroes in the polynomial p(x) = 32% + 2x=1is:

(A) 1 (B) 3 (€) 4 (D)2
3. The coefficient of x* in the expansion nfm’[l—i]‘ is :

(A) m’ (B) % €) -1 D)1

4. Degree of polynomial 3x* - ' + 5x + 3is:
(A) 3 (B) —4 C) 4 (D) 1

_a secron'e >
Question numbers 5 to 10 carry two marks each.
5. Simplify : (4x+5y) x (4x-+5y).

6. Find the remainder when the polynomial p(y) = y* - 3 + 7y - 10 is divided by (v - 2).
- 1 1 1 1

7. simpiy: (x+ 1) (+-1) (#+35) [+*+57)

8. If a point C lies between two points A and B such that AC = BC, then prove that AC = % AB

9. In figure, ZDOB = 87" and £C0A = 82°. If ZBOA = 35°,
then find £COB and £COD.
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OR
In the figure, PR is the angle bisector of ZAPQ, Prove that AR || CD.

c 104 0
F

10. Find the area of a rhombus whose perimeter is 200 m and one of the diagonal is 80 cm.

m secrion ¢ T

Question numbers 11 to 20 carry three marks each.
11. Evaluate : [Ji-w':?]z . (JE-JE)z
OR
Simplify : {J}}':% JF -;-1‘{1:;}“% '
12 If [%]H = [E]h-a,um find the value of x.

13. Using remainder theorem, factorise :
6x" = 252" « 32x = 12,
OR
Find the product (x + y + 2z) (+* + ¥ + 42° - xy - 2yz - 2zx)

R+ P+ A 280 andad + be+éa = %,Ihenﬂndthewl-ueof[m-&+c]’.

15. In the given figure, BO and CO are bisectors of £DBC and ZECB respectively. If ZBAC = 70" and
LABC = 40°, find the measure of ZBOC.

In AABC, if AB is the greatest side, then prove that ZC > &0°,
16. Line | bisects £A and B is any point on line [. BP and

BQ are perpendiculars drawn from B on arms of ZA.

Prove that :

(i) AAPB=AAQB

(i) BP=BQ.

W
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17. In the given figure, AB = AC, D is the point in the interior of AABC such that ZDBC = ZDCB. Prove
that AD bisects £BAC of AABC.
A

B c
18. In APQR, if § is any point on the side QR. Show that PQ + QR + RP > 2P5.
P

a s R
19. In the figure, find x and v, i1 | | m,p | | 4.

20. A triangle and parallelogram have the same base and same area. If the sides of the triangle are 15cm,
14 cm and 13 cm and the parallelogram stands on the base 14 cm, find the height of parallelogram,

Question numbers 21 to 31 carry four marks each.

73 32 245
21. Evaluate : - =
JI0+3 15432 J6+45
OR
(i} Find three different irrational numbers between the rational numbers -3- and lil ;

(ii) Which mathematical concept is used in this problem 7
(iii) What is its value ?

B AZ) )
22. Evaluate : A4 24 3
(v2)
23. If x* - 3x + 2 is a factor of polynomial x* - ax” + b, then find the values of a and b.
24 1F x* +— =23, then find the value of x' +—

25. If a, b, c are real numbers and a® + ¥ + & —ab - be —ca = 0, then show thata = b = ¢.
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26. Plot (= 3, 0), (5, 0) and (0, 4) on the cartesian plane. Name the figure formed by joining these points
and find its area.
27. In figure, OA = OD and £1 = £2. Prove that AOCB is an isosceles triangle.
(& B

28. Prove that “Two triangles are congruent if any two angles and the included side of one triangle is
equal to any two angles and the included side of the other triangle”.

A P
OR
Show that the difference of any two sides of a triangle is less than the third side.

29. In figure, two straight lines PQ and RS intersect each other at O, If ZPOT = 757, find the value of a,
band c.

30. In figure, ABCD is a square and EF is parallel to diagonal BD and EM = FM. Prove that :
(i) DF=BE
(ii) AM bisects ZBAD.

A
f-
B
31. In figure, it is given that RT = TS, £1 = 2/2 and £4 = 2./3. Prove that :
(i) ARBT = ASAT
(ii) RB=AS
5
A (<]
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